=4 Replaces Toro Greensmaster Series 4

ﬁn Parts
Cutting Unit

~ Reel & Bedknife

All original equipment manufacturers names and part numbers are used for identification purposes only, and we
are in no way implying that our products are original equipment parts. Prices subject to change without notice.




=4 Replaces Toro Greensmaster Series 4

Hﬁn Parts
Cutting Unit
~ Reel & Bedknife

Item R&R OEM Qty Order
No Part No. Part No. Description Req Quantity

R&R Reels, Lifetime Guaranteed

1 R4-2161 Reel - 9 Blade 1

Detail Description: R&R Reel blades are expertly crafted from premium high carbon-boron alloy
steel, heat-treated to perfectly complement both R&R and OEM bedknives. Each reel undergoes
precision cylindrical grinding on bearing surfaces, followed by relief grinding for optimal
performance. Advanced computer balancing ensures extended reel and bearing life. Backed by
our lifetime guarantee against defects in materials and craftsmanship under normal use, R&R
Reels deliver unmatched durability and cutting precision you can trust.:

R&R Bedknives, Lifetime Guaranteed

2 R150470 3-6573 Bedknife 1

Detail Description: R&R Bedknives are manufactured from high carbon-boron alloy steel and
then hardened to RC46-49 to match the temper of our reel blades and original equipment reels.
Bedknives are surface ground on the top and front edge and straightened three times before
being packaged with oil for rust prevention. All R&R Bedknives now have an increased front edge
grind for added life. All R&R Bedknives are guaranteed against defects in material and
workmanship under normal use for the life of the part.:

Overhaul Kits & Service Tools

4 R100175 Overhaul Kit - Cutting Unit 0

Detail Description: Includes 2 ea.: R253-120, R343667, R253-41:

5 R51-0880 51-0880 Bedknife Screw Driver Tool 0

Detail Description: Easily install and remove bed knife screws with the help of a ratchet with 3/8"
drive. Tool manufactured with hardened alloy steel.:

Belts
271-4, .
7 R39-3770 39-3770 Belt - Reel Drive 1
7 R39-3780 39-3780 Belt - V Traction (Pgm) 1
Other Parts Available

Screw - Bedknife Stainless
10 R150475 3-6462 5/16-18 x 5/8 7

All original equipment manufacturers names and part numbers are used for identification purposes only, and we
are in no way implying that our products are original equipment parts. Prices subject to change without notice.




=4 Replaces Toro Greensmaster Series 4

Hﬁn Parts
Cutting Unit
~ Reel & Bedknife

Item R&R OEM Qty Order
No Part No. Part No. Description Req Quantity

Detail Description: Pre-Packaged in bags of 50:

3-3816,

10 R150476 3-6462, Screw - Bedknife 5/16-18 x 5/8 7
57-4910
8-2520,

11 R8-2520 8-2520.01 Support - Comb 1

Tech Note: Use Only With Adjusting Conversion Kit R57-3090:

12 R8-2530 8-2530 Comb - Urethane 1

Tech Note: Use Only With Adjusting Conversion Kit R57-3090:

13 R33-1000 33-1000 Brush Assy 1

Tech Note: Use Only With Adjusting Conversion Kit R51-3090:

109966,
15 R343667 251-6, Bearing - Ball 2
38-7820
16 R253-41 253-41 Seal - Pgm 2
253-120,
17 R253-120 25342 Seal 2
19 R10-5060 10-5060 Bracket - Roller Adj 2
20 R51-3100 51-3100 Spacer 2
21 R51-3090 51-3090 Conversion Kit - Roller 2

Detail Description: Includes: 4 ea: R322-7 Bolt, R3290-238 Washer, R443106 Nut; 2 ea: R10-5010
Screw, R10-5060 Bracket, R32108-21 Screw, R400184 Screw, R51-3100 Spacer & R65-8600 Knob:

01-166-0070,
01-166-0410,
23-9-GD,
22 R3253-3 24-7150, Washer - Lock 1/4 2
3253-3,
3256-1,
352-167

All original equipment manufacturers names and part numbers are used for identification purposes only, and we
are in no way implying that our products are original equipment parts. Prices subject to change without notice.




=4 Replaces Toro Greensmaster Series 4

ﬁn Parts
Cutting Unit

~ Reel & Bedknife

Item R&R OEM Qty Order
No Part No. Part No. Description Req Quantity
01-150-1030,
01-178-0406,
23 R321-4 20-3-AGD, Bolt - Hex HD 1/4-20 x 3/4 2
321-4,
3222-1
24 R3-6464 3-6464 Washer - Bottom Bedknife Aj 4
25 R3-6465 3-6465 Washer - Top Bedknife Adj. 4
26 R10-5010 10-5010 Screw - Roller Adjustment 2

Tech Note: Use Only With Adjusting Conversion Kit R57-3090:

27 R3249-3 3249-3 Screw - Comb 11
32127-17,

28 R3296-9 3296.9 Locknut - Comb "
10-5040, . _—

29 R65-8600 65-8600 Knob - Height Adjusting 2

Tech Note: Use Only With Adjusting Conversion Kit R51-3090:

30

R11-0070 11-0070 Comb - Assy 1

Tech Note: Use Only With Adjusting Conversion Kit R51-3090:

31

01-188-0518,
22-12-AID,
32111-4,
3217-4,
3217-6,
R443106 3218-2, Nut - 5/16-18 Y/Zinc Plated 6
513295,
513412,
915112P,
915978,
915979

32

R3290-238 3290-238 Washer - 5/16 Pyramidal 4

All original equipment manufacturers names and part numbers are used for identification purposes only, and we
are in no way implying that our products are original equipment parts. Prices subject to change without notice.




=4 Replaces Toro Greensmaster Series 4

ﬂﬁn Parts
Cutting Unit
~ Reel & Bedknife

Item R&R OEM Qty Order
No Part No. Part No. Description Req Quantity

01-150-0750,
01-150-0760,
01-178-0512,
33 R322-7 20-28-AD, Bolt - Hex HD 5/16-18 x 1-1/2 4
20-28-AGD,
322-7,
3223-4

34 R32108-21 32108-21 Screw - 5/16-18x7/8 Machine 2

322-2,

513338P Bolt - Hex HD 5/16-18 x 5/8 2

35 R322-2

01-166-0400,
24-10-BD,
24-9-AD,
32-9650,
3256-2,
3256-23,
3256-3,
3256-67,
3290-217,
3556-3,
4-2390,
7-0152

36 R453009 Washer - Flat 5/16 SAE 2

All original equipment manufacturers names and part numbers are used for identification purposes only, and we
are in no way implying that our products are original equipment parts. Prices subject to change without notice.




